
Precalculus 

Lesson  6.6 –Phase Shift; Sinusoidal Curve Fitting 

Mrs. Snow, Instructor 

 

If we take the transformations from 6.3, we can expand on the transformations to include 

horizontal and vertical translations.   

Amplitude and Period: 
𝒚 = 𝑨 𝐬𝐢𝐧(𝝎𝒙 − 𝝓) + 𝑩 

 

𝒚 = 𝑨 𝐬𝐢𝐧 𝝎 (𝒙 −
𝝓

𝝎
) + 𝑩 

 

Amplitude:  |𝐴| 

Period= 𝑇 =
2𝜋

𝜔
 

Phase shift = 
𝝓

𝝎
 

B=vertical translation 

𝒚 = 𝑨 𝐜𝐨𝐬(𝝎𝒙 − 𝝓) + 𝑩 
 

𝒚 = 𝑨 𝐜𝐨𝐬 𝝎 (𝒙 −
𝝓

𝝎
) + 𝑩 

 

Amplitude:  |𝐴| 

Period= 𝑇 =
2𝜋

𝜔
 

Phase shift = 
𝝓

𝝎
 

B=vertical translation 
 

The phase shift is to the right if we subtract and the shift is to the left if we have addition.   
 

 

Find the amplitude, period and phase shift of y, and graph one complete period.   

𝑦 = 3 sin(2𝑥 − 𝜋) 
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𝑦 = 2 cos(4𝑥 + 3𝜋) + 1 
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For Tangent functions we have a similar form  

𝒚 = 𝑨 𝒕𝒂𝒏 𝝎 (𝒙 −
𝝓

𝝎
) + 𝑩          𝒚 = 𝑨 𝒄𝒐𝒕 𝝎 (𝒙 −

𝝓

𝝎
) + 𝑩                   

 

 𝒑𝒆𝒓𝒊𝒐𝒅 =
𝝅

𝝎
          𝒑𝒉𝒂𝒔𝒆 𝒔𝒉𝒊𝒇𝒕 =

𝝓

𝝎
 

 

𝑦 = tan 2 (𝑥 −
𝜋

4
) 
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